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1) Which of the followings spells correctly? 

a) Mustispeciality   b) Multipeciality  

c) Maltispeciality   d) Multispecialty  

 

2) Which of the followings is suitable subject for an official (formal) letter? 

a) Requesting for two days’ leave   

b) Thank you  

c) Yours faithfully    

d) Respected sir 

 

 

S.No Unit Qns Total marks 

Prose-14 marks 

Lesson.1 A Hero 2 

14 marks 

Lesson.2 There’s a Girls by the Tracks 2 

Lesson.3 Gentleman of Rio en Medio 2 

Lesson.4 Dr. B. R. Ambedkar 3 

Lesson.5 The Concert 2 

Lesson.7 Colours of Silence 3 

Poetry-10 marks 

Poem,1 Grandma Climbs a Tree 2 

08 marks 

Poem,2 Quality of Mercy 2 

Poem,4 The Song of India 2 

Poem,5 Jazz Poem Two 1 

Poem,6 The Blind Boy 1 

S.R.-2 marks 
S.R.-1 Narayanpur Incident 1 

2 marks 
S.R.-3 A Great Marty Ever Cherished 1 

Language in Use- 20 marks Grammar 16 16 marks 

TOTAL 40 Qns 40 Marks 
     



3) Which of the following sentence has verbal mistake? 

a) Lokesh has broken the glass.   

b) Lokesh has been cleaned the glass. 

c) Lokesh would buy the glass. 

d) Lokesh did not see the glass. 

 

4) Which of the followings collocate with the word ‘moon’ 

a) honey   b) sun  

c) earth   d) light 

 

5) Satish could barely hear, …………….. 

The question tag for the above sentence is………… 

a) didn’t he?  b) couldn’t he?  

c) could he?   d) does he? 

 

6) Which of the following words has two syllable? 

a) one  b) seven  

c) three  d) two 

 

7) Complete the statement with the given options. 

 If I had requested my parents, they …………given me a mobile phone. 

a) would have    b) will not  

c) would     d) will 

 

8) Give one word for, ‘a piece of land in which fruit trees are grown. -’ 

a) scepter   b) Voracious 

c) orchard   d) prune 

 

9) Fill in the blanks with a suitable verb form. 

 Naveen saw a snake and started …………towards his house. 

a) ran   b) run 

c) running    d) runs 

 

10)  Satish saw a bird and drew it. 

Which of the followings is the correct question for the given statement? 

a) What did Satish saw? 

b) Who saw a bird and drew it? 

c) What does Satish do? 

d) How has Satish drawn the picture? 

 

11) Baleshwara said, “Please help me to take her to hospital” 

The reporting of the above is….. 

a) Baleshwara said that please help me to take her to hospital. 

b) Baleshwara requested to help him to take her to hospital. 

c) Baleshwara told that please help me to take her to hospital. 

d) Baleshwara asked if help me to take her to hospital. 

 



12) Roma boarded a rush train.   Here, ‘boarded’ is……… 

a) a finite verb   b) an infinitive 

b) a non-finite verb  c) a gerund 

 

13) Read the picture and choose the sentence which is related to the given picture. 

 

 
 

a) The players are practicing football.  

b) They are going to college. 

c) People are in sitting in a hotel. 

d) It is a library.  

 

Read the given passage and answer the QNo. 14 and 15. 

Wangijia walked eastwards for many days until he saw ahead of him a large mountain, 

covered with snow that shone like silver. Just at that moment, an old monster with a black 

beard appeared in his path. 
 

14) Wangijia walked toward the……. 

 a) South 

 b) North 

c) East 

d) West 

 

15) What was shining like silver? 

a) a large mountain   

b) beard 

c) an old moster    

d) path 

 

16) We had a party ……… my birthday. 

 Fill in the blanks with a suitable preposition. 

a) at   b) since   

c) on   d) by 

 

17) ‘Suman is the bravest girl.’ The comparative degree of the sentence is….. 

a) Suman was braver than any other girl. 

b) Suman is braver than any other girl. 

c) Suman is braver than some girls. 

d) Suman was not braver than any other girl. 

 



8) The officer issued a notice. Here ‘issued’ is………….. 

a) a noun  b) an adjective 

c) a verb  d) an adverb 

 

19) Change into passive. People did not help the girl. 

a) The girl is not helped by people.    

b) The girl did not helped by people. 

c) The girl is not being helped by people.   

d) The girl was not helped by people. 

 

20) The verb form of ‘collection’ is…………… 

a) collect   b) collections  

c) collective   d) collectively   

 

…………………………………………………… 
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